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BCARD DIPLOMA EXAMINATION, (C-09)
OCTOBER / NOVEMBER - 2011
NI - IV SEMESTER EXAMINATION
STRENGTH OF MATERIALS

Time : 3 Hours] _ - ' [Total Marks : 80

PART - A o 10><3'=30

- 4

Insiructions :- {1) Answer all qu{,stwns and each quethn carries
| - R three mark, . :
o "'(9) Answers-shduldbe-brief.and. btm gnt.tn ti’epoz'nt
ond shall not exceed five simple sentences..
(S)- Assume missing data wherever necessary.

| [ @ List out the three elastic constants and write down 12+ 1-;—

) the relation between them.

@4 Define thermai stress.

Qi

3
Q,_\‘c, State the difference heiween suddenly applied load 1-;—+ 1—;
and impact load. )
:7)’ 4 A cantilever beam of span 4m carries a uniformly l.l—w-l-l:
‘ distributzd load of 2kN/m on whole span. Determine th’e; ~
maxiniin shear force and bending mo*nent
;?, 5  State the’ JJfferences between cantilever beam and 3
: ovérhanging bpam
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a steel strip of thickness tnmn can be .3
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tent if the maximum stress in the sirip 1s not to eycced k
1 Vmm2. E for steel = 2 x 10° N/mmZ

ver beam with a span of 3m carries a point load 3
of 35 #\ at a distance o" 9m from the fided end. Find th
deflection at free end. E = 2 x 10° N/mm? }A&J =120x10° mm‘i

|

\:’? Write the exvressions for polar mement of inertia 1—;'*1—;' Q;E
. icr solid and hoilow shaft -f’ﬁJ F - L’f"/?/;';
A A
s i J
NOEEY: e o s velat (Laid
>A\8s Deiine the terms spring .ndax and stiffness related 15+15
10 coil springs. P ,
. o | hont ol &1
=13; A thin cylindrical shell Favmﬁ 2.2 m diameter and 5 m 3°
= length is subjected 10 a hoop sfrpaq of 65 N/mm?. Calculate
circumferentizl strain. Assume Poisson’s ratis as 0.32 and
Young's modulus as 2.1 x 10° N/mm?2. =5 e
- : : ' _‘,.,. o~ ()
i " PART - B / aXIO = :)G
) e o 3, anS—
Py ¥ T gL
Tustructions : (1) Answer any five questions and each question
- carries 10 marks. ,
(2) The answers shoudd be comprehensive and the
eriteria for valuation is the content but not the
Lens.,h of the ansiver.
(3) Assume missing data wherever necessary.
i1 The bars A and B made up of same material and same 10 ,
izngth I"0 m “are subjecied to same axial load. The diameter \_,/({
of bar A is 25mn for a part of length and 3¢ mm for the ;
remaining length. The bar B is havmg a diameter of 18 mm. '
‘H: the eldngzation of the bar A is 25% of the elongation of *
the 'DE‘:l_E, what is the length of bar A of chametpr 25mm.
P o oy e
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